

ENTREGA 2

$$\Delta Q = hA(T - T_{\infty}) + vPc_p \frac{dT}{dt}$$

$$\Delta Q + hA(T_{\infty} - T) - vPc_p \frac{dT}{dt} = 0$$

$$T = 0 \rightarrow T = T_0 \quad Q = Q_0, \quad \frac{dT}{dt} = \frac{dT_0}{dt} = 0$$

$$Q_0 + hA(T_{\infty} - T_0) - 0 = 0$$

$$T = T$$

$$T = T_0 + \Delta T$$

$$Q = Q_0 + \Delta Q$$

$$\frac{dT}{dt} = \frac{dT_0}{dt} + \frac{d\Delta T}{dt}$$

$$Q_0 + \Delta Q + hA(T_{\infty} - T_0 + \Delta T) - vPc_p \frac{dT}{dt} = 0$$

$$Q_0 + hA(T_{\infty} - T_0) + \Delta Q + hA \cdot \Delta T - vPc_p \frac{d\Delta T}{dt} = 0$$

$$\Delta Q = hA \Delta T + vPc_p \frac{d\Delta T}{dt}$$

$$\frac{\Delta Q}{hA} = \Delta T + \frac{vPc_p}{hA} \frac{d\Delta T}{dt}$$

$$K = \frac{1}{hA} \quad Z = \frac{vPc_p}{hA}$$

$$K \Delta Q = \Delta T + Z \frac{d\Delta T}{dt} \rightarrow K \mathcal{L}[\Delta Q] = \mathcal{L}[\Delta T] + Z \mathcal{L}\left[\frac{d\Delta T}{dt}\right]$$

$$\frac{K}{S} \Delta Q = \Delta T + Z \cdot S \cdot \Delta T$$

$$\Delta T \cdot (1 + ZS) = \frac{K}{S} \Delta Q \rightarrow \Delta T = \frac{K \Delta Q}{S(1 + ZS)} = \frac{K \Delta Q}{ZS \left(\frac{1}{Z} + S\right)}$$

$$\Delta T = \frac{K \Delta Q}{Z} \mathcal{L}^{-1} \left( \frac{1 - e^{-t/S}}{s} \right)$$